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3= A=A

sinasin B 13, FEOIMEEEODELRAI

cos(a + 3) = cosacos 3 — sin asin 3
cos(ax — 3) = cosacos B + sinasin 3
DAEAICHBEICHENS. Chohb

sin o sin B = —%{COS(OA B) — cos(a — ﬁ)}

B4 (2,
cos a cos B = %{cos(a B) + cos(ax — ﬁ)}




PNk EE
270NDAB a EBDMa+ L D=AFEE (X, XD
£, 2RI, a,B D=ABBTERI_ENTZES.

ICEELRDIE, XDA4DOTHB.

B REFL DN EEEE
1| sin(a + B) = sina cos B + cos asin 3
2| sin(a — B) =sinacosB — cosasin 3

EI cos(a + ) = cosacos B — sin asin 3
zl cos(ax — B) = cos a cos B + sin asin 3






